RyFr Rz BFBREHE

EEZERI HR-IPEE
1 H 53 S7TH TASH(L)  ZAE
(DEXFF—XY—2O# 9 30 4y ~9 B 45 4y
()T RN A= D 13 B 00 45 ~13 B 15 4y
2 B &= X (X F—XU—TDF 9 K 45 4y
(2) TR RY—=T O 13 KF 15 4
3 & 5% KEXBEEEE ATV —F
4 3BEEHE H (DEXF—RXV—=T7 D (34 9F—21)
(2) TRNR) =T O (34 9—L4)
5 & 2 (DEXF—XV—=7 D B~ 3L
(2) TR R =T O BF~ 3L
6 SINE KH KA 8, AT EADTR24 L EnsZe
7 EERR SN G e (=T TRS)
8 & I # 1,000 F UNFALLT K OKHBE KAy F ¥ e Bl 500 H)
9 HHAKIE (1) KHXRYF ¥ HEOR—L_2—= 80 BN AT B IE
RO B HIAT S,
2)BHLOEED FAX HEHSMHAFICKLERFHEZHATLO L,
FAX IZTHIAT 5,
10 HAMIRR G746 H 30 H(H)
11 B & & KHEXARYF v Haem—s2— https://otaboccia.net/
AFERE
1 H 53 S84 2 H 22 H(H)
2 B & X N
3 &= %
4 3BEEHE H
oX WA mExarme
6 SINEHK
7 GERR
8 & I #
9 WAL
10 HIAHIRR SR8HETH 31 A(L)
11 [ & % BAERELFL

_53_



